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Enrollment No: _______________________         Exam Seat No:_______________________ 

C. U. SHAH UNIVERSITY 

Winter Examination-2019 

 

Subject Name : Water Supply and Sanitary Engineering 
 

Subject Code : 2TE05WSE1                         Branch: Diploma (Civil) 
    

Semester : 5        Date : 19/11/2019   Time : 10:30 To 01:30   Marks : 70 
 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: (14)  

 a)  To compensate for losses, theft and wastage of water, an allowance 

provided is 

(a) 5% (b) 10% (c) 15% (d) 25% 

1 

 b)  Factors affecting, prediction of future population of a city is 

(a) Births (b) Death (c) Migration (d) All of the above 

1 

 c)  The best coagulant for removing the color of water is 

 (a) Alum (b) Lime (c) Iron sulphate (d) Copper sulphate 

1 

 d)  The waste water from bathrooms, kitchen, etc. is called  

(a) Refuse (b) Sullage (c) Sewage (d) Garbage  

1 

 e)  All water that occurs below the surface of the earth is called 

(a) Ground water (b) Underground water    

(c) Sub-surface water (d) all the above 

1 

 f)  The tank which is generally used for plain sedimentation is of 

(a) Circular shape (b) Rectangular shape  

(c) Hopper bottom shape (d) Hexagonal shape  

1 

 g)  The minimum diameter of sewer pipe is 

(a) 1 cm (b) 5 cm (c) 10 cm (d) 15 cm 

1 

 h)  Per capita water demand is calculated in liters 

(a) Per person per day (b) Per person per month 

 (c) Per person per year (d) None of the above 

1 

 i)  Which one of the following methods can be employed for plastic and 

rubber waste disposal? 

(a) Composting (b) Incineration (c) Sanitary landfill (d) Pyralysis  

1 

 j)  Water supply scheme is usually designed for a life of  

(a) 100 years (b) 50 years (c) 25 years (d) 10 years 

1 

 k)  BOD of safe drinking water should be 

(a) Nil (b) 10 ppm (c) 20 ppm (d) 30 ppm 

1 

 l)  In distribution pipes, drain valves are located 

(a) At junction (b) At summit (c) At lower joint (d) Anywhere 

1 
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 m)  Sewage in dry form can be used as  

 (a) Foundation soil (b) Building material  

(c) Fertilizer (d) Chemical for BOD 

1 

 n)  The gas produced during sludge digestion is 

(a) Nitrogen (b) Methane (c) Carbon monoxide (d) Carbon dioxide 

1 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 
 a) Enlist the various physical tests of water and write about any one. 7 

 b) List the different sources of water that exist on Earth. 7 

    

Q-3  Attempt all questions (14) 

 a) The population statistics for a city are shown below as per the Census 

Report. 

Year 1961 1971 1981 1991 2001 

population 30,000 33,000 39,000 47,000 52,000 

So predict the population of this city in the year 2021, with Arithmetic 

increase method, Geometrical increase method, and incremental increase 

method. 

7 

 b) Describe the different water purification units and the impurities 

removed from each. 

7 

    

Q-4  Attempt all questions (14) 

 a) Write a short note: Methods to prevent leakage. 7 

 b) Explain the difference between a 'Slow sand filter' and a 'Rapid sand 

filter'. 

7 

    

Q-5  Attempt all questions (14) 

 a) Explain the importance of sedimentation. Draw a rectangular 

sedimentation tank diagram. 

7 

 b) Explain the recycling and reuse of waste water. 7 

    

Q-6  Attempt all questions (14) 

 a) Write a comparison between conservancy and water carriage system. 7 

 b) Explain the classification of drains. 7 

Q-7  Attempt all questions (14) 
 a) Write a short note: Hydraulic testing of sewer line. 7 

 b) Explain the natural methods of sewage disposal. 7 

    

Q-8  Attempt all questions (14) 
 a) Write a short note: Manhole. 7 

 b) Write a short note: Incinerator. 7 
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Q-1  Attempt the following questions: (14)  
 a)  નકુવાન, ચોયી અને ઩ાણીના ફગાડની બય઩ાઇ ભાટે, બથ્ુું આ઩લાભાું આલે છે. 

(a) 5% (b) 10% (c) 15% (d) 25% 

1 

 b)  અવય કયતા ઩રયફ઱ો, ળશયેની બાવલ લસ્તીની આગાશી છે. 

(a) જન્ભ (b) મતૃ્ય ુ(c) સ્થ઱ાુંતય (d) ઉ઩યોક્ત તભાભ 

1 

 c)  ઩ાણીનો યુંગ દૂય કયલા ભાટે શે્રષ્ઠ કોગ્યરુન્ટ છે.   
(a) પટકડી (b) ચનૂો (c) આમનન વલ્પેટ (d) કો઩ય વલ્પેટ 

1 

 d)  ફાથરૂભ, યવોડુું લગેયેભાુંથી નકાભા ઩ાણી કશલેાભાું આલે છે. 

(a) યેપયઝુ (ફી) સ્રેજ (c) ગટય (d) કચયો 

1 

 e)  પથૃલીની વ઩ાટીની નીચે આલતા ફધા જ ઩ાણીને કશલેાભાું આલે છે. 

(a) ભ ૂજ઱ (b) ભગૂબન જ઱ (c) ઉ઩-વ઩ાટીલા઱ા ઩ાણી (d) ઉ઩યના ફધા 

1 

 f)  જે ટાુંકી વાભાન્મ યીતે વાદા કાું઩ ભાટે લ઩યામ છે તે છે. 

(a) ગો઱ાકાય આકાય (b) રુંફચોયવ આકાય (c) હ઩ૂય તળ઱યુું આકાય (d) ઴ટ્કોણાકાય 
આકાય 

1 

 g)  ગટય ઩ાઇ઩નો રઘતુ્તભ વ્માવ છે. 

(a) 1 વે.ભી. (b) 5 વે.ભી. (c) 10 વે.ભી. (d) 15 વે.ભી. 

1 

 h)  ભાથાદીઠ ઩ાણીની ભાુંગની ગણતયી ળરટયભાું કયલાભાું આલે છે. 

(a) દય રદલવ  વ્મક્ક્ત દીઠ (b) દય ભરશને વ્મક્ક્ત દીઠ  
(c) દય લ઴ે વ્મક્ક્ત દીઠ (d) ઉ઩યોક્ત કુંઈ નશીં 

1 

 i)  પ્રાસ્સ્ટક અને યફયના કચયાના વનકાર ભાટે નીચેનીભાુંથી કઈ ઩દ્ધવતનો ઉ઩મોગ કયી 
ળકામ છે? 

(a) કમ્઩ોસ્સ્ટિંગ (b) બસ્ભીકયણ (c) વેવનટયી રેન્ડરપર (d) વ઩યાળરવીવ 

1 

 j)  ઩ાણી પયુલઠા મોજના વાભાન્મ યીતે ----------- વભમ ભાટે યચામેર છે 

(a) 100 લ઴ન (b) 50 લ઴ન (c) 25 લ઴ન (d) 10 લ઴ન 

1 

 k)  ઩ીલાના શદુ્ધ ઩ાણીનુું ફીઓડી શોવુું જોઈએ 

(a) નીર (b) 10 ઩ી઩ીએભ (c) 20 ઩ી઩ીએભ (d) 30 ઩ી઩ીએભ 

1 

 l)  વલતયણ ઩ાઈ઩ોભાું, ડે્રઇન લાલ્લ ક્સ્થત છે 

(a) જ ુંકળન ઩ય (b) વળખય ઩ય (c) નીચરા વુંયકુ્ત (d) ક્ાુંમ ઩ણ 

1 

 m)  શષુ્ક સ્લરૂ઩ભાું ગટયનો ઉ઩મોગ કયી ળકામ છે   
(a) પાઉન્ડેળન ભાટી (b) ભકાન વાભગ્રી (c) ખાતય (d) BOD ભાટેનુું યાવામળણક 

1 

 n)  કાદલ ઩ાચક દયવભમાન ઉત્઩ન્ન થમેર ગેવ છે 

(a) નાઇટ્રોજન (b) વભથેન (c) કાફનન ભોનોક્વાઇડ (d) કાફનન ડામોક્વાઇડ 

1 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 
 a) ઩ાણીના વલવલધ બૌવિક ઩યીક્ષણોની માદી ફનાલી ગભે િે એક વલ઴ે રખો. 7 
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 b) પથૃ્લી ઩ય અસ્તિત્લભાાં યશરેા ઩ાણીના જુદાજુદા સ્ત્રોિની માદી કયો. 7 

    

Q-3  Attempt all questions (14) 
 a) એક ળશયેની લતિીના આંકડાઓ લતિી ગણિયીના રય઩ોર્ટ  મજુફ નીચે દળાટલેર છે. 

લ઴ટ 1961 1971 1981 1991 2001 

લતિી 30,000 33,000 39,000 47,000 52,000 

 

િો આ ળશયેની લ઴ટ 2021ભાાં થનાય લતિીની આગાશી ગણણિીમ, વભગણુોત્તય અને 
વદૃ્ધિવવિંર લધાયાની યીિોથી કયો. 

7 

 b) ઩ાણીના શદુ્ધિકયણ ભારે્ના જુદા જુદા એકભો અને દયેકભાાંથી દૂય થિી અશદુ્ધિઓ જણાલો. 7 

    

Q-4  Attempt all questions (14) 
 a) ટૂાંક નોંધ રખો: રીકેજ અર્કાલલાની યીિો. 7 

 b) 'ભાંદ યેિી રપલ્ર્ય' અને 'ળીઘ્ર યેિી રપલ્ર્ય' લચ્ચેનો િપાલિ જણાલો 7 

    

Q-5  Attempt all questions (14) 
 a) વેરડભેન્ર્ળનની અગત્મિા જણાલો. રાંફચોયવ વેરડભેન્ર્ળન ર્ાાંકીની આકૃવિ દોયો. 7 

 b) ગાંદા ઩ાણીનો પનુઃ ઉ઩મોગ કઈ ફાફિો ઉ઩ય આધાય યાખે છે? 7 

    

Q-6  Attempt all questions (14) 
 a) ભ઱લાશન ઩િવિ અને જરલશન ઩િવિની તરુના રખો. 7 

 b) ગર્યનુાં લગીકયણ વભજાલો. 7 

Q-7  Attempt all questions (14) 
 a) ટૂાંક નોંધ રખો: ભ઱લાશીની ઩ાઈ઩નુાં શાઇડ્રોરીક ઩યીક્ષણ. 7 

 b) ભ઱પ્રલાશ વનકાર ભારે્ની કુદયિી યીિો જણાલો. 7 

    

Q-8  Attempt all questions (14) 
 a) ટૂાંક નોંધ રખો: ભેનશોર 7 

 b) ટૂાંક નોંધ રખો: ઈન્વીનયેર્ય 7 

    

 


